18A (BF/NM1LUTF 1000m) 1%B (BF/M1LTF 1000m)

BT Fon' -  EREk K % B IR o' - ERE% K 4 B JIE {2
1185  4.21 HFEEKE =M 1 1
2 65 4.21 =#% /I dE 2 2
3 83  4.26 JH KiEF SLEH 3 3
4 T 429 %K HE R 4 4
5 105 4.327# HKIE &R 5 5
6 26 4.341uA WE R 6 6
7 46 4.35 FHA FR LEHR 7 7
8 135 4.35/EH EA R 8 8
9 133 43T EE BF tER 9 9
10 77 431 2@ EBE hs 10 10

3% (BF/IN3FE 1500m) 48 (BF/PM4E 1500m)

JEBT Fon' - ERE% K % B JEHL o' -  ERE% K 4% T B I 52
1 80 547 ®FE %k BE 1 15 528 #5K SRIE FEEH 1
2 12 5.56 ik St B 2 90 5.32 /MR BEE dtFE 2
3 162 558 B HE R 3 118 5.33#BM B Ls 3
4 101 6.03#BAR B hs 4 92 5.33kE #HEH dEHR 4
5 100 6.04 %X #HE L 5 6 5.49 #H H BX 5
6 M 617 F#E FEE R 6 106 550 =% ®K L% 6
7 197 6.18 IFR Ak he 7 81 L554MF H AE 7
8 66 6.18 & HAX BE 8 184 6.02fhF 1E AR 8
9 51 6.27 A% mE Jt% 9 193  6.06 MAREEAE dbg 9
10 153 6.28 fh)Il sk B 10 38 6.10 /M =B R 10

148 (XF/PM1LT 1000m)

JEBL Fon' - ERE% K % B JEHL o' - ERE% K 4 B I 52
1 13 422 %% EF BX 1 1
2 55 421 HEEBRF F= 2 2
3 104 437 #E BX E& 3 3
4 32 4.38EHH FiY TR 4 4
5 146 449 ®FE ER R 5 5
6 3 4.53 hRERR R 6 6
7 98 5.0 EH BEBFE IkF 7 1
8 201 520 k@H B 4% 8 8
9 195 5.25 FHJ FEk AL 9 9
10 95 526 2@ BTE LER 10 10

16% (XF/IN3E 1500m) 178 (ZF/IM4&FE 1500m)

IERL Fon' -  ERE% K % T B JERL o' - ER8% K 4 T B [[:3v8
1 2 L50E) HE R 1 165 556 B FHF F{ 1
2 75 6.044t)Il F1F BE 2 119 6.07#M 285 Ls 2
3 4 6.15FfT HE R 3 164 6.122H #E NS 3
4 178  6.20 fAME RER db% 4 168 6.271 K EX & 4
5 43 6.25 kF Ep FE 5 97 7.04 i ER dLEE 5
6 130 6.35: & HE he 6 6
7 1713 6.3 EEBEEE he 7 7
8 128 6.44 BHEAF HAHE 8 8
9 159 6.47 A #HK F{ 9 9
10 33 6.52RR E B 10 10

2EA (BF/h2%F 1000m)
fun' - ER8R K & @& B
48  3.51 [ BHE OER
116 3.55 gEA m#k dbg
91 358 MRERWSL dEHE
84 4.00 H#M MEE LER
27 A4 03FHHE KXE TE
78 4.04 EF A AE
102 4.04 5@ &4 BF
140 4.05 f0A E#& @EEH
85 4.06 HI#E #EE A
20 4.06 fhFH f&A deE
58 (BF/Ih5% 2000m)
fun' - ERER K & & B
24 115 5H# #Ei deE
54  7.30 KE HE BE
41 7.33 A @t TE
176  7.49 EH ¥ L
62 8. 10&#% KXiE BSE
53 8.15 HLt #EH &
109 8. 19 5R ## =R
200 8.44 EA Kih JLEE
37 9.29%HE FE F=
158 (KF/N2F 1000m)
fun' - ERER K & & B
82 359 MF &/ AR
136 4.0 TR W3 AR
155 4.08 2K ME BHEME
14 408 EE ER =H
16 421 #HF  F &F
89 4. 23mTH M TE
99 4. 23#E RB{t BwmEM
57 4.271 At MHE BE
17 4.28 #t3 R &
39 428/ BER R
18%8 (XF/IN5HE 2000m)
tun' - 8% K & ®m B
M 7.42 0% BHE ER
56  7.49 #t BERF F{
21 7.55 fhH DFE dE
143 8. 18 2 [Em d&EE
198 8. 34 @BV KLY R
175 8.42 fiH I A
5 0.43 ®fT %£kE R

B0 EBN-735Y°
E . 14%

] E:6°C biiv]

2%B (BF/Ih24%F 1000m)
JBGL Fun' - EC8% K & ™ B
1
2
3
4
5
6
7
8
9
10
68 (BF¥/Ih6%F 2000m)
JB6L un' - ECEk K & & B
1 47 713 HHEKRHE dER
2 189 1208 AE BAE
3 86 7.21 ¥l 47 L
4 113 T7.51 vtk BEE B
5 1 8.01 EJIl #hE R
6
7
8
9
10
IB6L tun' - ECEk K & @ B
1
2
3
4
5
6
7
8
9
10
19% (XF/Ih64&E 2000m)
JERL tun' - B8R K & ™ B
1 138 71.52&lL ®BF A%
2 59  8.01 /Mt #HEK =H
3 145 8.22#K B &R
4 114 8.26 ¥ UL TEBE
5 122 832 fELIY TE
6 149 8.35%H HHE A
7 64 9.05 FlF ME IHER
8
9
10



78 (hE1F5F 3000m) 8 (M¥HEF2-34 3000m) 20% (h%E&XF14E 3000m) 218 (h¥EXF2-34 3000m)

B o' - E8% K 4 T B IERL tun' - E08% K 4 T B IERL Fun' - 28R K 4 B B o' - E08% K 4 T B
1 2 1013 A#E £E 4% 1204 948 EEE—E ME 1202 11.04 4 % mE 1206 10.51 #E4f HEX mE
2 201 10.41 BBK i InFE 2 206 9.51 EfgEmzs e 2 201 11.08 2HU% = ik 2 1 1201 =% HF &
3 1 10.55 #A& =Xk Jt& 3 6 0.53 #ME & JtE 3 4 12,20 hFt HRE dE 3 2 120235t BE LF
4 301 11.01dt)1 #BE R 4 205 10.10 s =®H ME 4102 13.05 A% B =N 4105 12.45 #iEEY 5 &N
5 202 11.53 ch3t #4& MFE 5 7 10.22=@ % 4% 5 103 13.09 EA HE =M 5 209 12.46 #k ETy M
6 300 11.58 N f2FE % 6 103 10.52 BHE Mts E 6 5 13.47 FF1 B k% 6 104 1310 EEE BL EDS
70302 1210 BE Bk = 7 4 10.57 RE RBA LE 7 203 14.39 47 {2E M 7208 13.55 @@ @EF MA
8 304 12.18 @ KIE £ 8 355 10.57 §&K R 8 205 14.59 HHME EW nEE 8 107 1438 &K KF =W
9 305 12.21 HA HiE R 9 207 11.00 %Lt Fn& mE 9 101 15.56 B E4T =N 9 106 18.15 % &5 =
10 203 12.39 BA #=ih hfG 10 108 11.02 k¥ =E = 10 10

O (BFEREMUL 5000m) 108 (BF30mft 3000m) 118 (BF40%H 2000m) 12% (B¥50% 2000m)

IEGL o' - EC8% K 4 T B IEGL tun' - E08% K 4 T B B4z ton' -  E28% K 4 B B o' - E08% K 4 T B
17203 16.30 Eth Eth EEA 1206 10.16 #LE 2 557 x&4q 1207 6.47 %% Eth LR K&H 1 209 80448 1 ibmm
2 3269 16.47 IE@ BA EERS 2205 12.30 &t HE JLEET 2208 10.35 mfE  f@ HEFET 2
32099 17.19 @15 =7 BEES 3 3 3
4 3177 17.35 EE Sk ES 4 4 4
5 202 17.40 $&F@ BAfE MtUT 5 5 5
6 3277 19.02 BE KiE BEES 6 6 6
7 3275 19.30 R HE BEES 7 7 !

8 3175 19.55 Nk Bt dLEE 8 8 8

9 3179 20.53 =R EN LEH 9 9 9

10 201 20.57 4T Fist @318 10 10 10
13% (BF¥60mLlE 2000m) 228 (XFEREULE 3000m) 238 (XF25mUE 2000m)

[P <t S : . Bt - B OB & R Bt - BB OE & BB
1 1 3144 11.20 #E BE &S 1
9 2 3220 11.47 Rt FB BEES 2
3 33149 1227 BEA EBE# ES 3
4 4 3145 12.34 AEE K ES 4
5 5 3219 1311 #a = EEES 5
6 6 3143 15.35 %M HIK ILES 6
7 7 7
8 8 8
9 9 9
10 10 10



